0907432 Computer Design (Spring 2008)

Quiz 2
الاسم:




رقم التسجيل:
 

رقم الشعبة:

===========================================================================

Instructions: Time 10 minutes. Closed books and notes. No calculators. Please answer all problems in the space provided. No questions are allowed.

<Good Luck>
Q. Consider the following chart. Can we exploit more ILP for benchmark “li” by using renaming registers more than 256? Why?
[image: image1.jpg]gee

espresso

Benchmarks

fpppp

doduc

tomcatv

_ 11
10 Renaming registers
_910 W Infinite
| s @ 256 integer + 256 FP
4 W 128 integer + 128 FP
I 5 [ 64 integer + 64 FP
I 1315 M 32 integer + 32 FP
10 O None
I s
4
_______BH
12
| _____BH
1"
6
5
59
49
[ 35
20
5
4
29
16
[ 5
1
5
5
54
45
[ ¢
28
K
5
0 10 20 30 40 50 60

Instruction issues per cycle

S s N .







No, because the available ILP does not need registers more than 256.

_________________________________________________________________________


_________________________________________________________________________

Q. Consider superscalar, coarse MT, fine MT, and SMT processors.
a)
Order these processors in descending overall throughput order.

SMT, Fine MT, Course MT, Superscalar


_________________________________________________________________________

b)
Order these processors in ascending single thread execution time order.

Superscalar, SMT, Fine MT, Course MT


_________________________________________________________________________
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